T8 FERARARARICER IR VHABRER

1

1 [EIIR AR
OB SEREN P E T AP T
‘ ngm S61.4.24% ~H7.4.145 (ZERDHAELY) . _ _
—iR4TEB  |H7.424 ~H11.414% CFERHELY) T4 134 124 84 4% 3.0
. —H4TERC  |SH1.4.24 ~H11.414% (FERHELY) o e _ _ _ _ _
DB | spmmang BEEFESHEOBHEE-TS 1R
JHBAER H3.4.24 ~H11.414% (R LELY) 1REE 104 944 24 24 4.5
=K1 414 38% 164 64 6.3
2 2 [ $E FEBR
BB BERAH LR mnEy zaEg SRR BE lapms
R —RBTERA ﬁ%“zﬁg ;Z;&%(?@&%m‘) 3Z IR 6% 64%| 194 6%, 10.7
; — - S61.4.24 UM o
ﬁ*ﬁﬁﬁ#ﬂ% 1%% :t ;ﬁﬁ%%Xlinggéi—G(:ﬁ*ﬁﬁygﬁ:Eﬂ 1 %*EE 2. 3% 3% 1% 1% 30
\ —H4TERC  |S51.424 ~H11.414% (FERHELY) o e _ _
BB | gunmEng BEEFESAEOEAEE-TS 1BEER 1% 1% 1%
&&t 804 684 214 14 9.7




